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Find each value if f(x) = x + 7and g(x) = (x + 12
10. ) 1. f-4) 12. fla+2) 13. 3@
14. g(-2) 15. 0.5 16. gb-1) 17. 330
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Write an equation in slope-intercept form for each graph.
4. y 5. T
-2,9)

2,3

3-2)

Write an equation in slope-intercept form for the line that satisfies each set of conditions.
6. slope —1, passes through (7, 2) 7. slope 3, passes through the origin
8. passes through (1, —3) and (~1,2) 9. x-intercept —5, y-intercept 2

10. passes through (1, 1), parallel to the graph of 2x + 3y = 5

11 passes through (6, —2), perpendicular to the graph of —x + 8y = 5

12. passes through (0, 0), perpendicular to the graph of 2y + 3x = 4
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Find the slope of the line that passes through each pair of points.
109,60 223,67 3.2,8,2,-8
4 a5,-1,6,19 - 6 (-3,0,4,0

Graph the line passing through the given point with the given slope.

7. 031 8.(2,3)0 9. (-L1;-%
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State whether each equation or function is linear.
13-y=7 2. Vx=y+5
4x=3+y 5. f) =7
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Write each equation in standard form. Identify A, B, and C.
7.x+7 y 8. x=-3y 9. 5x=7y+3
10.y=2x+8 11, —0.4x =10 12. 0.75y = —
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Determine whether each relation is a function. Write yes or no.

1 T

»
x
E

1970 | 11,605 1 5
1980 | 13,468 2 5
1990 | 15,630 8 5
2000 | 18,140 4 5






T Rl e ey T4

i he et et e o i

Laan RER (R R
L -
State whether eachequation o function islnese
1i-y=7 2Vi=y+s
wxmaey s -7

[ ——

= =
ke 5 e
e Whe ama  ome

o ks g B



